9910
22" - (1) = £3) (4] (o) -

22" = -§-23.
% 23-23 = (-3 =- [91)
i) Z3 3 J
e, 44;,w o b
ol.(-§) 591 - 9| ¢ = 32 (91l
J 3113221-:'2‘

~1
=\ («ﬂ =9 te 531
Sl 221:=5-21



f@b Na _K-]o A Jo 7—)&/}
- FF(’A&\ ’b{_#

22O et Byl
Fl)- P[2es]- Pf;("‘;f] Pf)(ﬁr]
I:(,/"\ ~ 4efaz)

SATRE



K. pood paddyihs fdesr
7. nm&litu;&

P ((X*\/IZKZ):. 1- P(IK—-Y[QZ) -
- blxe lm e - flee (o)

X~ Bi (4w %)

X 800 . X80 _xm
V’MW(A (f'i) Vovo s~ /(//0/4)
=2 Vo)




1- Plas ¢ Xegtd]-

(- P[5 K- 3] -

1= P(aost- @ (o)) -
> @(—z,ar) =1 566

[ —












	Stránka 1: IV 28-14:11
	Stránka 2: IV 28-14:21
	Stránka 3: IV 28-14:26
	Stránka 4: IV 28-14:34
	Stránka 5: IV 28-15:05
	Stránka 6: IV 28-15:18
	Stránka 7: IV 28-15:39

